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NaCl
Mg o
Cl.Br.1I Na. Mg
1. Y]
80 100 mg
Cl.
Na.Mg.S.Ca.K.Br.C.Sr.B F 11
99.8% ~99.9%
8 x 10"t
(g/kg) 1:
1 glkg
Na* K* |Ca®* |Mg* | Cl- |S0;™
10.62 | 0.38 | 0.4 |1.28 |19.10]2.66
88.6%
10. 8% . ( kg
) 2,
N,.0, CO,

(0°C .mL/L) : 11.5.46.
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2
Ig 1%
NaCl 27.2 77.7
MgCl, 3.8 10.9
MeSO, 1.7 4.9
CaS0, 1.2 3.6
K, SO, 0.9 2.5
CaCo, 0.1 0.3
MgBr, 0.1 0.3
35.0 100.0
2. ?
1 kg 2 1 kg
CaS0, 1.2 g CaSO0,
0.15( 3) 200 g
CaSO0,
CaSO, NaCl
76 g
MgCl, .
CaCl, \MgSO, .CaSO,
o MgCl, . CaCl,
3 (10C)  g/100g
NaCl | MgCl, CaCl, | MgSO, | CaSO,
36 25.0 32.9 15.0 0.15
3. Ba( OH) ,
?
Ca’* \Mg* " .S0;~
( Na,CO,.NaOH. BaCl,)
BaCl, Na, CO,
NaOH
3 3 6
NaOH. BaCl, Ba( OH) ,
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Mg® "\
SO;” o

?
1 kg 1
Mg®* 1.28 ¢.S0;” 2.66 ¢
Mg”* 0. 0533 mol.SO; ™ 0.0277 mol
NaOH. BaCl, NaOH.

BaCl, 0. 1066 mol. 0. 0277 mol
Ba( OH) , 0. 0533 mol
SO;~ Ba’* 0.0277 mol  0.0256 mol
Ba®" 0. 0256 mol
Na,CO; » Ba( OH) ,
o Mg .S0;"
Ba( OH) ,
Na, CO, o
Ba( OH) , NaOH  BaCl,.
4. ?
1.8 x10"t
60%
Mg2+ b}
?
4 ( ) /100 g
MgCl, | MgSO, | MgCO; | Mg( OH),
54 33 0.011 0.0029
4 Mg( OH) ,
o ?
? 1 Mg’
1.29 ¢/L 56 g/L
0.05 mol/L.2.0 mol/L.  MgCl,
o 5 2 o
1
Mg o
1 2
Ca( OH) , ( 6)
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Ca( OH) ,
5
(
)
1. AB
0.05 mol * L.=! MgCl, (
) 2.0 mol + L=' MgCl,
( ) 1 mL
NaOH
2. A.B
2.0 mol * L=! MgCl, 1 mL
Ca( OH) ,
Ca( OH) , ( )
6 /t
KOH NaOH Ca( OH) ,
5238 2305 1200
Mg( OH) S —Mg
2
1 Mg( OH) , ——MgCl, _—

MgCl, » 6H,0 —MgCl, —Mg

2  Mg( OH) , —>MgO —Mg

MgO ? 2
MO MgCl,
( 7)
1o
7 C
MgCl, | MgO | MgSO, Mg( OH) ,
714 2800 1327 280°C
« ”»
!
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